1/100

222
HAHE—AY L v 1]
H=28N -
i =
% L e 1
1
1
! ——
1
[
1
I =)
3
I o
I
r — )
| Il
_ Il
o | Il %]
| Il
| Il 5]
L — 4 2] 3]
] 3]
400 15
_\ /_ 160
15 15
500 200 500 | | 500
| 160 160
ZHEAYNE M TER ZHEAYNE SRR ZHEAYNE SRR
*HEESEET B, ACH-1-1 ACH-2-1 ACH-1-2_ ACH-1-3
0 228 SUSEUMK 3 (BER) SUSEUMk R (%R SUSEU R (BER)
3¢ 3M 3¢ 30 36 3N 3¢ 3N
210V [Aacw-1-2 ]  [CAcw-1-37]  [CAck-2-1] 210V 210V 210V
RST RST RST RST
o3 s 1450-3C 1450-3C 2250-3C
15050 x 3E38 (G70) 50 sa- SO
210v/105V 2oV £5.5(628) E5. 5(628) E8. 0(636)
225 x 3E8. 0(636) 14sqx 3E5. 5 (628) 14sq x 3E5. 5 (628)
L HW NCCB3P75AT/100AF HW NCCB3PSOAT /50AF HW NCCB3P50AT/50AF
tih lih 8
T8
NCCB HCCB
3°225/200 3P200/150
_ sy _EB P\ EG ® \' He »\'_ fe ¥ _HB P\ EB _ B P\ R g
B0/500F B0/508F 0/508F VO/500F B0/508F 0/500F W0/500F B0/500F B0/504F
CE5, Sm-30 OF5 5m-30 | GES5m-30 | CES.Gme3t | CES. m-3C CE2.Omi-30 | CES, Sm-3¢ CE2.0m-30 | OE5, Sm-36
E1.6(622) EL6E2)  |EL6E2) |EL6E2) 16 (622 EL6E2) [E16(822) E1.6(622) E1.6(822)
B [
ACP-6 [(acr-5 ] [ace-5 ] [ace-5 | [ace-5 ] AGP-2 ACP-6 ACP-3 ACP-7
X WA AN AN A W02 h FE) 05 4 F)

- ] [z e (o]
LM-088 R 543 B0
ERATORE ERABHNE ERAYHNE ERATHNE
- = = N . = Bt
A w% % =t E m MW s %%MWM IHATH SHIEE HBEYFL I —ZHARKREIE R02.10.23 )
= _
=W AT I 1790 T oA HAR— BEAH SERE R 1/100
JEt A1 (S0%BE/MA




